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#1  Solve for x (simplify completely): 



a) 					b) 					c) 	


#2  Find the vertex for each of the following quadratic functions and then graph the parabola:



a) 						b) 						c) 

d) Find the vertex of the quadratic function:  y = -2x2 - 12x -19
									



#3  Simplify the complex fractions: a) 				b) 				c) 	


#4  Perform the indicated operation. Express the final answer in the a + bi form:




a) 		 b) 		c) Simplify: 	d) Simplify: 

#5  Find the center and radius for the following circles: 
a) x2 + y2 – 18x + 2y + 57 = 0		b)  x2 + y2 – 14x - 2y + 25 = 0	c)  x2 + y2 – 4x + 2y - 20 = 0


#6  For the information given, indicate the quadrant of the terminal side of the angle θ, and find 
 the values of the six trig functions of θ.

a) sin θ =  and tan θ > 0         b) tan θ =2    and  cos θ < 0     c)  csc θ = -3  and cos θ > 0

#7  Solve each of the following system of equations:



a)						b)				c) 
				 									
#8  Solve the following equations:

a)                 b)                     c) 		d) 


#9  Given each ,  answer each of the following (round each answer to nearest tenth):



a) If a = 12, b = 8 and c = 5.  Find  		 			b) If, , a = 20. Find side b.




c) If b = 9, c = 6 and .  Find side a. 		 		d) If, , b = 13. Find side a.




#10  Prove each of the following Trig Identities:



a) 			b) 		c)   

#11  Find all solutions in [0, 2). State the solution in radians using the exact form:


a) 			b) 			


c) 				d) 					

#12  Solve the exponential equations to the nearest tenth:




a) 					b) 				c) 			d) 

#13  Evaluate the following logarithms without the use of a calculator:




a) 					b) 				c) 			d) 



Answers to questions:



#1	a) 			 		b) 						 c) 	

#2	a) Vertex: (1, -4)			b) Vertex: (-1, -1)				c) Vertex: (2, 2)		d) Vertex: (-3,-1)
[image: ]			[image: ]			[image: ]			




#3	a) 						b) 						c)   or  		 
 




#4	a) 				b) 				c) 				d) 	

#5	a) center (9, -1), r = 5					b) center (7, 1), r = 5			c) center (2, -1), r = 5

#6	 a) x = 4, y = 3, r = 5, QI, cos θ = 4/5, tan θ =3/4, sec θ = 5/4, csc θ = 5/3, cot θ = 4/3







 b) x = -1, y = -2, r =, QIII,  sin θ = , cos θ =, sec θ = , csc θ = , cot θ = 







 c) x = , y = -1, r = 3, QIV, sin θ = , cos θ =, sec θ =, tan θ = , cot θ = 





#7	a) (3,2),  (3,-2), (-3,2), (-3,-2)			b) (0,-3), (0, 3)			   c) (2,1), (-2,1), (2,-1), (-2, -1)	


#8	a) x=1                         b) x=3                c) no solution			d) x=5, x=14

		




#9	 a) 				b) 				c) 				d) 

#10	  LHS = Left Hand Side.  	RHS = Right Hand Side.






a) LHS: = ===








b) LHS: = ====

[bookmark: _GoBack]






c) LHS: =====










#11	 a) , 					b) , and 				c) , ,  and 






	d) , ,  and 			





#12	 a) 			b) 			c) 				d) 	 




#13	    a) 				b) -2				c) 3					d) 
	




oleObject2.bin

image49.wmf
2

4x

x

6x

2

2

+

-


oleObject46.bin

image50.wmf
1)

2(2x

1)

x(6x

2

+

-


oleObject47.bin

image51.wmf
i

29

11

+


oleObject48.bin

image52.wmf
i

35

6

-

-


oleObject49.bin

image53.wmf
i

2

5

2

1

+


oleObject50.bin

image3.wmf
-3

2x

2x

2

=

+


image54.wmf
i

25

22

25

29

-

-


oleObject51.bin

image55.wmf
5


oleObject52.bin

image56.wmf
5

5

2

-


oleObject53.bin

image57.wmf
5

5

-


oleObject54.bin

image58.wmf
5

-


oleObject55.bin

oleObject3.bin

image59.wmf
2

5

-


oleObject56.bin

image60.wmf
2

1


oleObject57.bin

image61.wmf
2

2


oleObject58.bin

image62.wmf
3

1

-


oleObject59.bin

image63.wmf
3

2

2


oleObject60.bin

image4.wmf
3

2x

x

y

2

-

-

=


image64.wmf
4

2

3


oleObject61.bin

image65.wmf
4

2

-


oleObject62.bin

image66.wmf
2

2

-


oleObject63.bin

image67.wmf
°

=

Ð

17.6

C


oleObject64.bin

image68.wmf
2

.

25

b

=


oleObject65.bin

oleObject4.bin

image69.wmf
6

.

8

a

=


oleObject66.bin

image70.wmf
9

.

11

a

=


oleObject67.bin

image71.wmf
Cosx

x

Sin

x

Sin

x

Cos

×

+


oleObject68.bin

image72.wmf
Cosx

x

Sin

x

Cos

x

Cos

x

Cos

2

+

÷

ø

ö

ç

è

æ


oleObject69.bin

image73.wmf
Cosx

x

Sin

x

Cos

2

2

+


oleObject70.bin

image5.wmf
2x

x

y

2

+

=


image74.wmf
Cosx

1


oleObject71.bin

image75.wmf
Secx


oleObject72.bin

image76.wmf
x

Sin

x

Csc

-


oleObject73.bin

image77.wmf
÷

ø

ö

ç

è

æ

-

x

Sin

x

Sin

x

Sin

x

Sin

1


oleObject74.bin

image78.wmf
x

Sin

x

Sin

1

2

-


oleObject75.bin

oleObject5.bin

image79.wmf
x

Sin

x

Cos

2


oleObject76.bin

image80.wmf
Cosx

x

Sin

Cosx

×


oleObject77.bin

image81.wmf
Cosx

Cotx

×


oleObject78.bin

image82.wmf
x

Sec

1

x

Cos

1

-


oleObject79.bin

image83.wmf
÷

ø

ö

ç

è

æ

-

x

Cos

x

Cos

1

x

Cos

x

Cos

1


oleObject80.bin

image6.wmf
2

4x

x

y

2

-

+

-

=


image84.wmf
x

Cos

x

Cos

1

2

-


oleObject81.bin

image85.wmf
x

Cos

x

Sin

2


oleObject82.bin

image86.wmf
x

Sin

x

Cos

Sinx

×


oleObject83.bin

image87.wmf
x

Sin

Tanx

×


oleObject84.bin

image88.wmf
3

2

π

x

=


oleObject85.bin

oleObject6.bin

image89.wmf
3

4

π


oleObject86.bin

image90.wmf
6

π

x

=


oleObject87.bin

image91.wmf
6

5

π


oleObject88.bin

image92.wmf
2

π


oleObject89.bin

image93.wmf
2

π

x

=


oleObject90.bin

image7.wmf
y

1

-

+

2

2

y

4

y

1

y

2


image94.wmf
2

3

π


oleObject91.bin

image95.wmf
4

3

π


oleObject92.bin

image96.wmf
4

5

π


oleObject93.bin

image97.wmf
0

x

=


oleObject94.bin

image98.wmf
π


oleObject95.bin

oleObject7.bin

image99.wmf
3

4

π


oleObject96.bin

image100.wmf
3

5

π


oleObject97.bin

image101.wmf
3

3

x

.

=


oleObject98.bin

image102.wmf
2

4

x

.

=


oleObject99.bin

image103.wmf
4

1

x

.

=


oleObject100.bin

image8.wmf
x

4

y

3

y

1

x

2

-

+


image104.wmf
1

2

x

.

=


oleObject101.bin

image105.wmf
3

1


oleObject102.bin

image106.wmf
2

1


oleObject103.bin

oleObject8.bin

image9.wmf
2

x

1

2

2x

1

3

+

-


oleObject9.bin

image10.wmf
7i)

3i)(5

2

(

-

+

-


oleObject10.bin

image11.wmf
2i)

(3

9i)

(4

-

-


oleObject11.bin

image12.wmf
i

1

2i

-

-

3


oleObject12.bin

image13.wmf
i

i

4

3

7

2

+

-


oleObject13.bin

image14.wmf
5

3


oleObject14.bin

image15.wmf
5

13

2

2

2

2

=

-

=

+

y

x

y

x


oleObject15.bin

image16.wmf
9

36

4

9

2

2

2

2

=

+

=

+

y

x

y

x


oleObject16.bin

image17.wmf
5

3

2

4

2

2

=

-

=

+

y

y

2

2

x

16

3x


oleObject17.bin

image18.wmf
5

5

3

=

-

-

x

x


oleObject18.bin

image19.wmf
ABC

Δ


oleObject19.bin

image20.wmf
C

Ð


oleObject20.bin

image21.wmf
°

=

Ð

50

A


oleObject21.bin

image22.wmf
°

=

Ð

75

B


oleObject22.bin

image23.wmf
°

=

Ð

67

A


oleObject23.bin

image24.wmf
°

=

Ð

37

C


oleObject24.bin

image25.wmf
°

=

Ð

79

B


oleObject25.bin

image26.wmf
x

Sec

x

Tan

x

Sin

x

Cos

=

×

+


oleObject26.bin

image27.wmf
Cosx

x

Cot

x

Sin

x

Csc

×

=

-


oleObject27.bin

image28.wmf
x

Sin

Tanx

x

Sec

1

x

Cos

1

×

=

-


oleObject28.bin

image29.wmf
0

6

x

11Cos

x

2Cos

2

=

-

-


oleObject29.bin

image30.wmf
0

1

x

3Sin

x

2Sin

2

=

+

-


oleObject30.bin

image31.wmf
0

Cosx

2

x

Cos

2

2

=

+


oleObject31.bin

image32.wmf
0

Sinx

3

x

Sin

2

2

=

+


image1.wmf
0

3

2x

6x

2

=

-

-


oleObject32.bin

image33.wmf
38

3

x

=


oleObject33.bin

image34.wmf
19

2

x

=


oleObject34.bin

image35.wmf
7

4

x

=


oleObject35.bin

image36.wmf
29

5

x

=


oleObject36.bin

image37.wmf
3

2

2

log


oleObject1.bin

oleObject37.bin

image38.wmf
9

1

log

3


oleObject38.bin

image39.wmf
64

log

4


oleObject39.bin

image40.wmf
5

log

5


oleObject40.bin

image41.wmf
6

19

1

±


oleObject41.bin

image42.wmf
2

6

i

±

2


image2.wmf
0

5

4x

-

2x

2

=

+


oleObject42.bin

image43.wmf
2

5

1

i

±

-


oleObject43.bin

image44.png




image45.png




image46.png




image47.wmf
y

-

4

y

2

+


oleObject44.bin

image48.wmf
4y

3x

x

2y

-

+


oleObject45.bin

